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) Te follow"lg tnstructions very carefully and strictly follow them : .

(i) ht.s Questions paper contains 37 questions. All questions are compulsory-

(iii) T}u.s Question paper comprises six sections — Sections ABC D E and F.

: Section A - Questions no. 1 to 20 are MCQs of 1 mark cach,

) _Sectif:m B - Questions no. 21 to 24 are very short answer type questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

(v) Section C - Questions no. 25 to 29 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 60 words.

(vi)  Section D - Questions no. 30 to 33 are long answer type questions, carrying
§ marks each. Answer to each question should not exceed 120 words.

(vii) Section E - Questions no. 34 to 36 are case-based questions with three
sub-questions and are of 4 marks each.

(viii) Section F - Question no. 37 is map-based, carrying 5 marks with two parts,
37(a) from History (2 marks) and 37(b) from Geography (3 marks).

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(x) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Questions) (20x1=20)
1. Match Column I with Column II and choose the correct option.
Column I Column I
i.  Union List 1. . Agriculture
ii.  State List 2. Computer Software
iii. Concurrent List 3. Banking
iv.  Residuary Subjects 4.~ Education
Options : :
: g s _ A4 B8 H-2 iv=
@ i-3ii-Lii-4iv-2 (b i-4ii-3ii-2av-d
(c) i-2ii-4,iii-3,iv-1 d i-1,ii-2,ii-3,iv-4
N P.T.O.
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h one of the following is an exnmple of ‘coming together federation’ ?
(a) India (by  USA
(c) Belgium ()  Spain

b‘mm are two statements given ns Assertion (A) and Renson (). Read
Oth the statements and choose the correct option o

Assertion (A) : Belgium amended their constitution four times

» ) .
Reason (R): Amendments were to enable everyone to live together in
the same country. o

(a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.

Match Column I with Column II and choose the correct option.

Column I Column I1
(Port) (Type) .
L. Kandla 1. Riverine port
ii.  Mumbai 2. Deepest landlocked port
ii.  Visakhapatnam 3.  Biggest port
4. Port developed after

iv.  Kolkata
independence

Options :

¥

 #
4 (a) i-4,ii-3,ii-2,iv-1

(b)_~1-2,ii-1,iii—3,iv-4
() i-2,ii—4,iii—-1,iv-3

(d) i"' 1, ii "2, iii & 4, iU 3
IL:"] I .l-o.
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There ) .
are two statements given as Assertion (A) and Reason (R). Read

bot )
h the statements and choose the correct option,

Assertion (A): Agriculture and industry move hand in hand.
Reason (R) : Industrial development is a precondition for eradication of
unemployment and poverty from the country.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

_’jll Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

Which one of the following soils develops in an area with high

temperature and heavy rainfall ?

(27 Red and Yellow (b)  Black

Laterite

(c) Alluvial (d)

Look at the picture given below. Identify the name of the senior

litterateur shown in the i image and choose the correct option.

i

g e E ]
«
L,,_‘mm.:-uwi”’

Options :
(a)  Ram Mohan Roy
(c) Lakshminafh Bezbaruah

(b) Raja Ravi Verma
(d) Gangadhar Bhattacharya

~
<D o
EJ“!
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NOte :

10.

11.

T .
he f:"”‘)wlng question is for the Visually
only, in liey of Q. No. 7.
Who among the
(a)

Impaired Candidates

following is the writer of ‘Gulamgiri’ ?
Dr. B.R. Ambedkar (b) E.V. Periyar
(c) Jyotiba Phule (d) Ram Mohan Roy

-n which one of the following countries was ‘mass production’ an
Important feature in the 1920s ?

: (@) -~ United States of America - (b) Poland

(c) France : (d) Japan

Choose the correct option from the following regarding Central Powers in
the First World War :

(a)  Germany, Austﬁa-ﬁungaw and Ottoman Turkey
(b)  Britain, France and Russia ;

’

(¢) Italy, Japan and Russia

(d)  France, Austria-Hungary and China

Which one of the following ideologies were the European Governments
driven by after the defeat of Napoleon in 1815 ?

(a) Socialism
(b)  Conservatism
(¢)  Liberalism

(d) Romanticism

Which one of the following is a challenge of Globalisation ?
(a)  Access to New Markets

(b)  Access to New Talent
(c) International Récruitment ‘

id) Disproportionate Growth

, @ P.T.O.
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15.

. 16.

Which one of the following categories of urban houscholds take the

hight‘b‘t percentage of loan from the formal sector ?

(a) Poor houscholds (b)  Houscholds with few assetg

(e) Well-off houscholds __7 Rich houscholds

Which one of the following is the modern form of currency ?
_(a>” Paper notes (b)  Gold coins

(c) Silver coins (d) Copper coins

Which one of the following is a feature of the unorganized sector ?
(@) Terms of employment are regular.
(b) People have assured work. -
() They have some formal processes and procedures.
\gd)/ There are rules and regulations but not followed.

Natural products being changed into other forms is known as :
(a) Primary product (b) Secondary product
(c) Tertiary product (d) Quarternary product

Study the given table and answer the question that follows :

Some data regarding India and its Neighbours for 2019

Country Gross National Life Mean Years | HDI Rank

‘; Income (GNI) per | Expectancy | of Schooling ’ in the world

| capita (2011 PPP $) |  at birth of People |  (2018)

\i aged 25 and !

| L : : above | _
| Srilanka | 12,707 o e 13

India 6681 - | 697 | 65 | 130 |

' Myanmar 4961 | 671 | 50 [ T

|Pakistan -~ | 5005 | 673 | 52 154

| Nepal [ 3,457 70-8 50 143

| — - LU SO ——————f———— ' — '. |

| Bangladesh % _“4,9'@ NP ,H__72_'§__ 62 S © L

Which of the following countries has the highest level of ‘Human

Development Index (HDI) ?

(a) ndia
Sri Lanka

(b)  Bangladesh
(d) Nepal

\ . oNic) P.T.O.
32/2/3 > il




17.

18.

19.

20.

21.

22.

For - : :
. Comparing countries, their

Choose the correct option to fill in the blank,

most important attributes by the World Bank.

(a) Education (b) Income
« \] /
(¢)  Health Status (d)  Living Standard

Which one of the following Countries adopted multi-party system 2

(@) USA © __(b—"TIndia

(c) China (d)  United Kingdom

18 considered to he one of the

Which of the following States is ruled by a regional party ? -

(a) Haryana (b) Madhya Pradesh
(e Odisha (d)  Rajasthan-

In which one of the following regions is the participation of women in

public life the highest ? .
(a)  Nordic countries (b)  Arab states

(¢c)  European countries

SECTION B

(d) Asian countries

(Very Short Answer Type Questions)

(a)  Analyse the role of Chief Minister Cavour who led the movement

to unite the regions of Italy.
OR

(b)

nineteenth century.

Differentiate between reserved and protected forests.

32/2/3 <>

Examine the ideas of liberal nationalism in Europe during the

(4x2=8)
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23, Why did the fee

ling of alienation incrense A the |

N 18456 9 Explain tei Lankan Tamil -
24, H
ow doe
v does the wee of money mnke easier 1o evchangs 1) L
.3 Hrnga 1 4 t .
with examples o
SECTION ¢
(Short Answer Type Questions)
25 ) How did print come into existonce in Europe ? Explain
‘ OR
(b) How did access to books create a new culture of reading ? F1pla:r }

26.  Explain any three characteristics of ‘Durg-Bastar-Chandrapur iron ore

el

belt" in India.

- * . . s .
27. Explain any three constitutional provisions that make India a secula:

state. 3.

28. How can more employment be created/generated in India ? Explaun with

examples, .
29. Examine the rising importance of the tertiary sector in India. 3
SECTION D
(Long Answer Type Questions) D323
30. (a) “Plantation workers had their own understanding of Mahatma
Gandhi and the notion of Swara).” Support the statement. 3
OR
() “Muhatma Gandhi found salt as a powerful symbal that could ;
unite the nation.” Support the statement. 3
31 (a)  Analyse the conditions under which democracies accununoedate :
' socin) diversities.
'("“ hich demacracies promote dignaty
(b)  Analyse the conditions under W 5
and freedom of citizens.
PT.O.
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32. ) X
. Explamn the featnres of primitive aubmiatonce

]
and enmmercial

farming i Indin

OR
) ) .
\b “\!\]:\H\ 1‘\.‘ (I‘.‘““""ﬂ '|f mmfenaive ﬂ"'!_ily,,;,."_ .rl'," plat T,
farmmng i India. o
33. a) .‘\n:ll} s¢ the impnd nfg]nhnliuuhnn on the Indian CCOTIOTT Y s
OR
(b} Analvse anv five steps for ensuring fair globalisation in Inda 5e1=53
SECTION E
(Case-Based Questions) (Jed=]2

34.  Read the given source and answer the questions that follow :

Most of the objections to the projects arose due to their failure to
achieve the purposes for which they were built. Ironically, the dams that
were constructed to control the floods have trniggered floods due to
sedimentation in the reservoir. Moreover, the big dams have mostly been
unsuccessful in controlling floods at the time of excessive rainfull. You
mav have scen or read how the release of water from the dams dunng
heavy rains aggravated the flood situation in Maharashtra and Guyarat
in 2006. The floods have not only devastated life and property but also
caused extensive soil ervsion. Sedimentation also meant that the floed
plains were deprived of silt, a natural fertiliser, further adding on to the

problem of lund degradation. It was also observed that the multi-purpose

projects induced earthquake
pollution resulting from excessive use of wator,

s, caused water-borne diseases and pests and

(34.1) Name the movement against the river project in Giagarut,

) : . s boen unsticeesstul in controlling
(34.2) How have the big dams mostly been unsie )

N - l.’
floods at the time of excossive rainfull 2

"‘\1:2
. " ¢ > ¢ - . s -
(34.3) Analyse any two merits of multi-purpaese fiunk pryecs

5 _—
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36.
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mn}"‘:;.:lllllnt‘l‘:x Faret World W A induatrind gromeh wae diw The =
ateally new ftnation With ”HH“'! illa by
Production o meet the neede of (e ATV, Mancheater irwees . .
dh‘l!nr\d‘ Suddeniv, Indian milla had a vaet herne rnfn\v:th ;r'“""""‘ ¥ \%
?ho war prolonged, Indian factories were called upan e .;.;, 1 l "I"»'T '
Jute hage, cloth for army uniformes, tenta and leather ,N;;: "y
mule saddlee and a host of other items New factoriea werp qr-!' r;'[.t .."zr«' : ,:
ones ran multiple chifis Many new workers were emplaved and :,u ,;

was made to work longer hours. Over the war years industrial produesion
boomed.

gy
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A e g

Aﬁrf the war, Manchester could never recapture ita old position in
the Indian market. Unable to modernise and compete with the [ S,
Germany and Japan, the economy of Britain crumbled after the war
Cotton pmdtl(ﬂinn collapsed and exports of cotton cloth from Britain il
dramaticallv. Within the colonies, local industrialists  gradually
consohidated their position, substituting foreign  manufacturers and
capturing the home market.

(35.1) Why did Manchester imports dechine in India ?

(35.2) Why could Manchester never recapture its old position in the
Indian market after the First World War ?

(35.3) Analyse any two benefits of the First World War to India. 2

Read the given source and answer the questions that follow :

The rise of political parties is directly linked to the emergence of
representative democracies. As we have seen, large societies need
representative democracy. As societies beczuu‘e large aud complex, they
also needed some agency to gather different views on vanous ssues and
to present these to the government. They m-edx-d_ SOMe wWavs, to b;,
various representatives together so that a responsible government “"ﬁ*‘
be formed. They needed a mechanism to sumx:rt or 1~\~afr;:1f1- 11:::;
government, make policies, justity or oppose them. lul.m\\\fxl ;‘uzu}-.-. u; i
these needs that every representative government has. We can say that

parties are a necessary condition for a democracy.

: I )
(36.1) Explain the meamng of a ‘political l’-"‘a"l- N .
. " 2 wetly hinked to the emengence «
36.% “he ris Jitical parties s dire
(36.2) “The rise uf politi ,l‘, R st i EaEsHEl ]
T representative democracies. s S0P | ‘ o,
(36.3) Why are political partics o necessary condition for a democracy &
i ]y 2 2
cxplain. )
=P P.TO.
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% 37. (n)  Two places A and By, )
vy
| e minrked an £ i ‘
| - on e S
| thne map of Indin oy Poge 27
the folloy inf. Loldentify thern mith the haly
oHowIimg mform ‘
l | mnation and Wil "H’\Y entrert fiarres ooy thaes ;
mes drawn near them - |
(1) :
) The place where the tewaion of the Indian Natiemal Congroas ?
wag held in December, 1920 I
k (n) The place where Jallianwala Bagh incident occtirred i
;}% (b)Y On the same political outline map of Indin, locate and label a-y -
£ i ] 1 |
3 three of the following with suitable symbols : del=]

(1) Noida - Software Technology Park
() Bailadila - Iron-ore mines
() Tarapur — Nuclear Power Plant

(iv)  Haldia - Sea port

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37.

Answer any five questions.
(37.1) Name the place where Indian National Congress session took place

in December, 1920.

(37.2) Name the place where the Jallianwala Bagh incident occurred

(37.3) Name any one major coffee producing state of India.

e where Bailadila iron ore min

nuclear power plant is

s are lm‘.l!ul.
(37.4) Name the stat

(37.5) Name the state where Tarapur
jere Huldia sea port s loca

l\\'-\(t'd

ted.
(37.6) Name the state wl

"
e

N
v

32/2/3




